AtLFRBEE

T & & W THOEE ERBARAKEHLERX ERRRIE
TEEHA ER1185# L4 4l

TEE R UFRIE

TAR—=K A#-B#-CH - D#H

ITEHE BEIER L=27.0m
EAFHEMT L=27.0m
T # ZHOANSHHM6EIANAET
A A E — AR F AL AfLBE SFSEI1H228  FRI9E3LS
A= AFLE £ 1E £ 2E F1EREE FE 2R RE -
@\ dFELER 10, 650, 000 518
HMEEER (FR) 11, 260, 000 <L
A | (%) =<4 iR
BEFREER R 11, 260, 000 <L
3925 (¥) 11, 260, 000 <L
) FSA4 2y bk 11, 260, 000 FEHL <L
| ) FTE4E 12,170, 000
(k) BIEBEE X 11, 260, 000 <L
=
B

LREEEEICHZEEDNINSTDI0HET HHEEMELEENEELOAILEETHD

EALRERE  (92.52%) 12,386,000 @ % = ffi #% 13,387,000 M
N AL EELHEE 11,260,000 M| & 1€ &I R ffi 4& — M
iR 10710048 &4%8 1,126,000 | {EAFLEHZE (H8) B 12,386,000 M
EILERE ) FSARV b RHERBAHRERBST3-




